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Which type of force is demonstrated when the two bottles repel each other without touching?
1. 599 &< [Contact force]
2.=T1g deT [Muscular force] [5 @
3. 9901 § [Frictional force]
4. 39Yd g1 [Non-contact force]
u.2 fSeledn aMgdia fIggd HeTel Siigelel ART Had dARge! RIsATHIGd! Jedetal! 3. fea go dhedmer

ReT SV 3TN % AT, IT TCHE Aald AR JeTT~Teh TR DRI 31 b ?

In the given setup, a tightly wound wire is connected to a battery and wrapped around an iron nail. As
soon as the switch is turned on, the nail starts attracting a pin. What could be the most scientific
explanation for this behavior?

1. g T1e 9 et & Fmfor .

[The battery produces a magnetic field directly]
2. ARGl RaasT prRead ! Yo gl

[Theiron nail becomes permanently magnetic]

3. fIega vaTeme i & 101 81 g RaesT daegRaT g gl

[The electric current creates a magnetic field, magnetizing the nail temporarily]
4. RecsarTeTt faegauR fiesd! g JTes TrIvit 1T gid.

[The nail gets charged and pulls the pin due to electric force]
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ST UTeR RIETa1d T <aTd R gRIGIal N 3TTRel Clehel 3R g o aTuféd | 3. - 8 &t
3R ?

Zinc powder is added to dilute hydrochloric acid in a test tube. What is expected to happen?

1. PIurchgt 21ffoam 81 ATgY. [No reaction takes place] 2. URI&THa! 2/ &1, [Test tube becomes cold]
3. gIIgIS IR AT gidl. [Hydrogen gas is released] 4. GRI&MaId ¥hIC gIdl. [Explosion occurs]

ASTeToTaed S Vgl STauT X 37O Y’ 31T, o= Sival SIUlid ged< i SIdul cldhet 31T ‘X
1T fUgesT T N ‘Y’ STauT qUfdhs] oTleT W1 €RUT hedl. R ATl X S0 ‘Y’ STavT fiRgesd degl ofTol 31
ATEAT 81T ST, ATaRa gl PIUT STUHT AT ?

Sejal has two colourless solutions ‘X’ and ‘Y’. She adds turmeric solutions to ‘X’ and Y’. ‘X’ turns yellow
and Y’ becomes brick red. Then she pours ‘Y’ in to ‘X’ and the red colour starts fading. What can you
conclude about the nature of ‘X’and Y’ ?

1. X’ 3TTfOT Y’ B &R 3Td. ['X’and ‘Y’ are salts.]
2.Y' g U JATFTRT 3R X SGgat e T A e,
['Y’is abase and ‘X’ can not be known with this limited information.]
3.V’ 2 Ua STFART 3R X 8 Teh 31T 3112, ['Yis a base and ‘X’ is an acid. ]
4.°X’ 2 Ueh STFART 3T 'Y’ g U 31T+ 3112, ['X’is a base and ‘Y’ is an acid.]
ST ALY fotara 34 fiead ST el gegs v giard a Ty X 81 9T aTex U<l
X' g1 a1 Tt TeTdeh rordT ?

Mixing of baking soda with lemon juice leads to formation of bubbles along with evolution of a gas ‘X'.
Thegas‘X'is

1. 3TTfaTo [Oxygen] 2. 99 [Methane]

3. Pre SI3TiaATgS [Carbon dioxide] 4. gRIZISH [Hydrogen]

TTetlet JMgHe DIvTel TfsharT B o 3fiese.

The following diagram shows the process of ------ i SR Vocuole
1. feRARUT [Diffusion] 2. IRIERUT [Osmosis] "i’oi 9 I " “,

3. GFATRRIROT [Circulation] 4. TP T [All of the above]

Tt SIUTcT 3Tt H,O IT FgreaT Xupe fHftfeft gaffaa 2
Which of the following diagram / structure correctly represent the electron dot structure of H,O
molecule?

L @GP 9o® ) @@ —@&S®
» @@ —@@® . OO0

STerIeT fetedT IRIRIE SMfHfshaie AUl foTe I vaT Wiefierieh! PIurT iy Jgare ?

Akshay wants to write a chemical equation for the following reaction. Help him to choose the correct
equation from the options given below.

KIERSE DI SIS ol
+ _— +
[Oxygen] Carbon dioxide] [Water]
1.CaCl,+O —> CO+H,0, 2.CO,+H, ™ C,+H,,0,+0O,
3.CH,,0,+O, —> CO,+H,0 4.CH,,0,+CO, —> H,0+0,
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o e TR e L, 3R, FETaisTdt L, 3R @ og GerNira! L, 318, 3. -8

The length of the vocal cord for male is L,, for female L,and for small children L,,
then the relation between them is -------
I.L,<L,<L, 2.L,<L,>L, 3.L,=L,=L, 4.L,>L,>L,

JolGed g T Seldg = HRdUITT STeT fSeled M. JTUDT 3@ el ATl

Find the correct pair of an element and it’s electronic configuration.

Element Electronic configuration
1. C 2,6
2. N 2,8
3. F 2,7
4. Na 2,8,2
GTel! [SetedT gt ghra e i,

Identify the incorrect statement from the following options.

1. gt erTed) BT heehid TehIahuTed HIGRIT FHTONG St ffor 8.

[Alarge amount of heat is generated due to the nuclear fusion taking place in the centre of sun.]
2. JeATT eI U= IS - 3 S01eh 311 FgurdTd.

[Heat energy from the centre of earth is called Geothermal energy.]

3. 37U heehid TSI dhel STAAT UEis I FHT0T Bl T fIG[d 31! FgurdTd.

[Huge amount of heat is produced by nuclear fission is called electrostastic energy.]

4. SYATT SITTd SETR JTTfaRgoTT sRIaR 31fifehaT gres-T IsurdT f=Hfor g,

[Fuels burns in the presence of oxygen. Heat is generated in these reactions.]

Ueh el ecdd! STcet! BT T STCeiaR o SRTaves SdiaR 135G dhel d e Uroft §RuaT 37Tel.
TR TSI BIOTT=AT UTOTeAT TTEISed Wletieden! hIvid e ie 37T ?

Three identical holes are punched at different levels (heights) in a plastic bottle. The bottle is filled with
water. Which of the following statements are true regarding the flow of water from the holes.

1. Fafa @reredn Sharid fogra ol iR e areR I,

[Water from lowest hole comes out with greatest force.]

2. |l g Setarie fgr urlt Fafferes Srem aeR .

[Water from highest hole comes out with greatest force.]
3. 94 TG A9 ST aToft a7eR 3,

[Water from all holes comes out with equal force.]

4. qTcelTeaT AYedT HITHEY SRied fesgT Toft |aifee Sram aTeR .

[Water from middle hole comes with greatest force ]

et uafarte! sivr uafy umoft geft Fewrfa ar o<,

Choose the correct option from the following with reference to an animal cell.

1. g, dads, Ueftuee, veft ffeTesT [Nucleus, Plastid, Cellmembrane, Cell wall]

2. g, IS, IS, Yeft RIfcaT [Nucleus, Chromosome, Ribosome, Cell wall]

3.ﬁeﬁqea, mgﬂﬂ, ‘\fraaﬁ':ﬂﬁw, a@cﬁfﬁlﬁﬂ [Cell membrane, Chromosome, Ribosome, Mitochondria]
4. ueflucd, IRIEISIRT, gRdede, dgaie [Cellmembrane, Chromosome, Chlorophyll, Mitochondria]
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Raw green tomatoes turn red due to break down of chlorophyll and synthesis of ----------

1. RIS [Carotene] 2. gi=eNfthet [Xanthophyll]
3. AR”IPIIH [Lycopene] 4. 3f-ATafE [Anthocyanin]

TSI U1l g ST YT0TT JATaT UIguaTIer A ST RUT —

Itbecomes easier to swim in sea water than in fresh water.

1. TG UTUAT 9R< BaT A1 Bl [Density of object decreases in sea water]

2. G ATl BT TSI UTuaTy & 3Tféreh 3IRAd. [Density of sea water is higher than fresh water]
3.GIve! BT aRIsR [Both 1 & 2 are true]

4. 318! 4a1a g [Both 1 & 2 are false]
DHRE G T B! D Ueref freeieh SRIAHTR! it 1l e ATl

Why does a battery eventually stop working even though some chemicals are still presentinside?

1. gemeiel 9d fagg TR ¥ g

[The battery runs out of charge completely.]

2. geMe AR Y ATed!, TS JaTe Faferd aTgd Tl

[The internal resistance increases, preventing efficient current flow.]

LR LIPC A CEORNERIKINRRRKIISIR

[The battery absorbs electricity from the circuit.]

4. TETHEY Serae | TR R0 BHRIFRGRHUT e,

[The battery stops producing electrons permanently.]

3FIRC ERIS AT IR TR Tetiel PIv faeT STee Mg d ATl

Which of the following statement is correct regarding Rutherford’s scattering experiment.
1. GhIE T TANTRATS! DT J7fcrerd Ui U= eial.

[Rutherford took a very thin silver foil for the experiment.]
2.1 vRINTHEY B (feeT) Shor ART R 17T

[B- particles were bombarded on the foil.]

3. 3T TANTTEH STUET ho AR GaTARIA dhgeh 3 3T Sk HIauaTa 37TeT.

[ltwas observed that entire mass of the atom is concentrated in the nucleus.]

4. BeHIIIt TIeT AT G RIT BT GRYH0T Feld IRIIT.

[Positively charged protons revolve around the nucleus.]

CH, (72 a1 SgTlie hreie a RIS AT Jergeaid HsTT 1T,

Identify the valencies of carbon and hydrogen in CH,(Methane) molecule.
1.C-1,H-4 2.C-4 ,H-2 3.C-4,H-1 4.C-2,H-4

GTeilel IGTERUMHE T A Y M5
Find the co-relation between the given examples.

BRSPS : G AGT &2 ——————— : STAGRT T

Hydrocarbon : Organic Compound :: ----------- Inorganic Compound
1. 9foM [Protein] 2. "3 [Sodium chloride]
3. %P1 [Glucose] 4.gRAT [Urea]

(A4)
\4}



.20 ST GEAT T g TIPART IAHUT faa! 31TE T geplal! SIS Iurei ? 3. -84t

Purity of Gold is shown in the given table in the form of carat & percentage. Find the incorrect pair.

Carat Percentage
1. 24 100
2. 22 99.00
3. 18 75.00
4. 14 58.33
U.21  HOR YeRIY BrRIq SRATIR! 3f1eh fehvrefic] SeHe TQyuITe iR dTed JATad.
IJTTiteT At AT HROT HIOT ?

Despite strict environmental laws, pollution level continues to rise in many developing countries.
Whatis most likely reason for this?

1. ST UGN HRASGG e HIfgd! ATal. [People are unaware of pollution issues.]
2. IGUNT 31T ATE-TTetdh R BICHR Tl R ATal.

[Industries and vehicle owners do not follow regulations strictly]

3. 9T SATTO7 uTuft <A fifep Ream g ie gl SR,
[Airand water naturally becomes polluted over time.]

4. JuUTTeT ITGIAGHI BIUITE! PrIg 3TRTaTd Tel. [There are no laws related to pollution.]

9.22  UepT AIGAT YhUTHaR 2RI AIGAT JHIUNG BT 81, Ueh MUl SaReeiTa JTfeehRl FULd UfgedT % AR
el Aatea ufcroha oy SRATe ?

After a major earthquake, a city experiences widesprade destruction, as a disaster managment officer,
what should be your top priority in the first 24 hours.

1. Srefeprefi= 3mféfes gRummTr faeeiyor

[Conducting long term economic impact analysis.]

2. 3TSDhoAT AT MYTITATST e ATTOT ST AT brfi=ere o,

[Co-ordinating search & rescue operations for trapped victims.]
3. N IRt gfae qafeiie e e,
[Planning & rebuilding infrastructure immediately.]

4. AT U gd FRIRIATS TSI v,

[Conducting public awareness programs on future disaster preparations.]

.23  IJRY Sl Al

Match the correct pairs.

ColumnA ColumnB
1. BIR3h A. 350 fiy.of.
2. RB.C B. 5000 ufer 10000 =.f3y.oft.
3. W.B.C C. 50T 60 o1er ufer . f o).
4. YadeH D. 72
1.1-C,2-B,3-A,4-D 2.1-D,2-B,3-C,4-A
3.1-D,2-C,3-B,4-A 4.1-D,2-A,3-C,4-B

U.24 50 °F g I9H AfI3T g hecgl= IT Uhahid bl 3_7eT.

Convert 50 °F in to °C & kelvin.
1.100°C &283.15K 2.10°C &283.15K 3.50°C &273.15K 4.0°C &283.15K

~
9}
~



U.25 SR U1 fopRur STREMAR RS (90 °) P TSelT o) B Bl 3. -84
What happens when lightis incident normally (at 90 °) to a mirror.

1. Tp12T fhROT 90 "M ORTafeldt giell. [The light ray reflects at 90
2. Up1eT fhRuT T AR ORe ST, [Light ray retraces its path.]

3. 12T RO NYAT ST, [The light ray is absorbed]

4. 9iap1gT fopRuT g fefd g1, [The light ray retraces it's path]

U.26 Ul ATSTT S1aes R 31T, FoTer 1mareTredt uraiast 85 dB g Uigrerd, e faganeafar s
aRum giget ?
Aschoolis located near a highway where noise levels reach 85 dB. How can this effect students?
1. 3ITAT VT AT g1gat. [Better concentration in studies. ]

2. OTTE TGO JATIOT TSI it o, [Increased stress and reduced attention span.]

3. PIUTATET IR g1 IR AT, [No effect at all.]
4. ST g a1t Uehed ™ GGy SgHdd. [May cause eye defects due to higher intensity.]

¥.27 fREF(A)  : UUGSITHE UTOATRAT USHTIER T G UTEUIRATS T URREpTT aToRET ST,
Assertion (A) : Periscopes are used in submarine for viewing above water
fam (R)  : URYPIY I THTA STRY AU 3eh RIS dedTaR BhRi R,

Reason® :Periscope work on the principle of multiple reflections using two plane mirrors.

1. A3TTOT R GIg SRIER 31TRd MO R 8 AT A1 TUEIGhRUT 3T,
[Both A& R are true and R is the correct explanation of A] Fegeeope
2. ASTfOT RGIVg! SRIER 31Ted U0 R AT I SIHuT ATgY. #

[Both A& R are true but R is not the correct explanation of A]

3. ASRISR 37Tg UUT R 31Te. [Ais true but Ris false]
4. AT 318 U1 R&RISR 31Tz, [Ais false but Ris true]

¥.28 SR lRcaHedT qTuare dIcediaR 6t STefuIRT HIRIGT U7 STTelT, TR Jrel TTtietih! iurdT gid Fasrd ?
If alaw is passed banning plastic water bottles, what will be your alternative?

1. T fohar sl Teed! aTaRuaTT WeT Sga. [Will prefer steel or glass bottle. ]
2. Paes Aafdercurefiet e aToRTd 31e. [Will use only biodegradable bottles.]
3. AT+ YTogTeT feheesa aIoR . [Use public water filters. ]

4. 901 99 [All of the above]

T.29 TR Coheiar fthed SRIHT JTaTeh Teb HEMTHT e GeT vl b T frsTT IRTIarett SHTOT forT HemmeaT T8
BIUITe ! STOT e het. ford faeR bl SRAVITATS I Al AR BHRUT ST,

Divijafeltangry after being stung by a honey bee and she immediately wished for bees to disappear.
Which of the following best explains why this thinking is incorrect.

1. AEHTTT ANBIGRID 3T JTIOT T AT STooTd, [Bees are dangerous and should be avoided.]
2. AEHTLIT IRITRTAATGR faRuiT e IRIUITRT Agd PRad.

[Bees help in maintaining ecological balance through pollination.]
3. Thdrd STTet! HEHTAT G2 hdld, YTedta HYHTAT ATal. [Only wild bees sting, farm bees do not.]

4. HYHILIT HIURARATS! HgeaTdT ATaId. [Bees are notimportant to humans.]

~
(@)
~



9.30

9.31

g.32

9.33

Y. 34

9.35

TBTLTAT TGTARIT SIATII T JUART Ueh Hehe AT, JITARIT AUITT M6 S AT, 3. -84t
TR IR Fald STae RIeIT AT HERH AT AITIRT AR J0 fohelt 9 aATTal ?

Light takes about 1 sec. to reach us from the Moon while it takes 8 minutes to reach to us from the Sun.
lttakes........ toreach us from the Alpha Centaurus, a star closest to the Sun.

1.4.3dX [4.3 hours] 2.4.3fCa[4.3 days] 3.4.375 [4.3 years] 4.4.397d% [4.3 centuries]

ST AefteT 18 km TEI=AT The Great Belt Bridge IeTTaTed Bl fAem= e 318 ?

Which statementis true about the 18 km longThe Great Belt Bridge in Denmark?

1.8 Yel Wﬁ’jﬁ%’ U] 919 AATal. [This bridge does not expand due to heat.]

2. HTWWE?[ FRIIT 4.7 Hiew ared. [The length of this bridge increases by 4.7 meters in summer.]
3. 31 YTl ol fearesaa 4.7 Hie @ 8. [The length of this bridge decreases by 4.7 meters in winter.]

4. 31 e TSI Sidelell SAeaTHo dl FARUT fhaT 3Tgre urad Tal.

[Since this bridge is made of wood, it does not expand or contract.]

I EIGEAT TRH §aT §efeh! et SMTIT aR ST, ATaRed gaHele STUfea TSt Shotaqael B (o 8l ?

On a hot summer day, the air feels lighter and rises upward. What does this suggest about the kinetic
energy of the air molecules?

1.TRH gaHe SR FRATST ot 31, UL TRH gl R STl
[Hot air has more potential energy, so hot air escapes upward]
2. TR gaHeieT UL HE i HaTfed gidTd, FEUT & aR ST,

[Hot air molecules move slower, making air rise]

3. TR gATElTe 31U AT gleralel T, TS Ticrol Sl aTed ST &4t &R STl

[Hot air molecules move faster due to increasing kinetic energy and making air rise]
4. 7fCIST ool 3MTOT goeT gleTalettal Aae -9a)l. [Kinetic energy doesn’t affect air movement]

GTelTd fSeledT MERT IS / STHIRTY g AT TSR fafire umoft Jiedrcicl gehret Sire! i,

Find the incorrect pair of National park / Wild life sanctuary and particular animal found in it.

ColumnA ColumnB
1. v fIrft e [Single Horned Rhino] PIGR [Kaziranga]
2. UTCER AT [Tigers] UTRIER [Ranthambore]
3. MRS 98 [Asiatic lion] RN [Periyar]
4. uGelt [Aquatic birds] MRAR [Bharatpur]

WlefteTdh! P1oredT feaeft STRTferes Yerde e ATSRT dhall STt ?

World Blood Donation Day is celebrated on :

1. 145 [14" June] 2. 7331 [7" April]

3.29 R [29" September] 4.149gsR [14" November]

MBS “Trapmt” areft GTyor gt dheft 37 AT et ST ?
Archimedes is believed to have shouted “Eureka!” when he discovered:
1. TP MY [Thelever]

2.3 MR [The screw]
3. STATIHA Ted MR [The principle of buoyancy]
4. 9T (pi) Tt Fhed=T MESITER [The concept of pi]

(7))
\7}



9.36

Y. 37

9. 38

9. 39

9. 40

. H1.<gY. T AT IS FROATT NeledT el GREBRRIGHIT DIV Tf Febrar 318 ? 3. -84

Which of the following option is incorrect about NOBEL Prize awarded to Dr. C.V. Raman?

1. HifTep AT e A19e GREBR [NOBEL prize in physics]

2.1932
3. Y1 fafepRo [Scatering of light]

4. 719 GREPR IR T2 YR [Firstindian reciev nobel]
. BIFT HATHT AT HSHIT WTetieudh! Do e gt amed 2

Which of the following statements is/are incorrect about Dr. Homi Bhabha?

1. T AR JAU[SS! BRIHHT ST1eh FgULT 3Teede] SN,

1. He is known as father of Indian nuclear program.

2. I § ferHies ToT A1aTe gRiah fetfgar.

2. He has written a book named The atomic age

1.%ad 1 [Only 1] 2.%dd 2 [Only 2]

3.1 .31 2gge! [Both 1 & 2] 4. ISP ATE [None of the aove |

XASTIeD Sfteo PR T
Identify the scientist X . [Radioactivity]

X

AR A Hﬁé?vr/ \qﬁ?ﬁ:ﬂm

[Nobel prize in chemistry] [Polonium]

1. S7. 1.8l Hur [Dr. C.V. Raman] 2. 31, ¥ R [Dr. Marie Curie]
3. 31, g1 91T [Dr. Homi Bhabha] 4. 31, {9spH ARTHTS [Dr. Vikram Sarabhai]

1. UUTSH. 31egel Shef™ IiedT AgHid Wiefiedeh! Blurd faem e 31g 2
Which of the following statement about Dr. A.P.J. Abdul Kalam is incorrect?
1. T ARG YRR 1997 AEY AT RN 3ATel. [He was awarded Bharatratna in 1997.]

2. 2002-2007 IT HTeSIT TR AU &I, [He was president of India from 2002-2007]
3. “qreft Sfiaam=T 8 i e aRa 3R, [My journey is his autobiography.]
4.3 foRATS T 7 31Tth SfSAT FgULT 3Tes<gel STITd. [He is known as Missile man of India.]

GTAAUDT DI G SF. BT ATl Tl FEHTd aRIsR 3178 ?
Which of the following option is correct about Kalpana Chawla?
1. g ST G&Ig HEd SA7efl BIcl. [She was born in Mambai ]

2. 1 TS ggega fereror TR guf e,

[She completed her post graduation degree from India.]

3. ARITT JTARTBa R SRIATT i DIt ST TUF et = TR hel.

[As a NASA astronaut she travelled by Colombia space shulttle.]

4. TTUEHT T8 [None of the above]

~
o0
~
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Which of the following option about mangrove is/are incorrect?
1. &R Ag1efle Ryt 3MRd. [They are salt tolerant trees]

2. BIEHT SIEIT aR $GA-ITG! Jo 3RIAT. [Some have aerial roots]
3.?[@[&?‘% T 3TGedd ATeld. [They are not found in India]
4. 3T 74 [All of the above]

Earthdayis celebratedon.............

1.219[21 May] 2. 22U [22 April]
3.229md [22 March] 4,215 [21 June]
Tt TeTtehT PIvT SiTet sRIeR 3778

Which of the following pair correct.

1. R 919 Hef [Gregor John Mendel] - 3 A [Genetics]
2. 91 ST149T [Charles Darwin] - SLUA.T [DNA]
3.Tsd8 9+ [Edwerd Jenner] - faYd 99 [Electric bulb]

4. IiTeTeR FAHIT [Alexander Fleming]
¥qTefiet 9Teg iureaT gafaneft e amea ?

Following words are related to which of the option?
i , S, St
Grok, Deepseek , Gemini

1. B gegmiar 3TERId deaie [Artificial intelligence chatbot]
2. FRAES G [Missile technolgies]

3. AcelTse AT [Satellite technolgy]

4. 3 U&TId delel SUUE [ISRO’s launched satellite]

GTetTereh! DHIvIT Gfa FehrT 31T ?

Which of the following option is incorrect?

<Y ATt @RT [Small pox vaccine]

1. gfAaT fdea=a [Sunita Williams] - 3MRE IARISIR [American Astronaut]
2. 9gI-3 [Chandrayaan-3] - Sl [ISRO]
3.94 [Mercury] - Hqd ATIHM et GATeId I8
[Hottest planet of solar system]
4,551 [5G] - QRHUR ToIsTH [Telecommunication technology]

faeTeaT aMgeicial (X) TR SIIgH TIR BITRT 31! feeie YT (a) (b) (c) & (d) 3D 3TeT.

Find out which of the figures (a) (b) (c) and (d) can be formed from the pieces given in figure (X)

VEFI 1. F 2. IZI 3. Z 4. EI

(X) (@) (b) (c) (d)
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fSeleaT SeufiuRd TIR IVTRT &9 Y 37 fHaer. 3. -8

Select the die that can be formed by folding the given sheet along the lines.

1.0nlyB,A&D 2.0nlyB&A 3.0nlyB&D 4.0nlyA&B
fSelean s RIS o SMgheidT A TI&ITd B UeRIgreaT SIF YT ard el fHagd
3Tl Hrforept quf .

Observe the sequence of the given figures and find the correct alternative from the given figures to
complete the series.

I s —

[E

[®[>[7]o]

— ? I

L. ﬂ 2. [ AN AN

fSelean g qTodTc et HferT i e 3T,
Choose the correct water image of the given figure from amongst the four alternatives given along with it.
® e o e o[
Al A A A A
< I. = 2. = 3. % 4. %
1® (] (] [ ] (]

fEeTeaT Te aMgpeitel! SRS T YA ST 3TleT.

Choose the correct mirror image of the question figure from amongst the four alternatives given along
withit.

STSTAT 3Tl URUT FepTuTe HeT fohe ?

How many triangles are there in the given figure?
1.6 2.10

3.1 4.12

ForQ.52to 54

9.52

9.53

Y. 54

T Aeaad /o ST HeRFgra ST I iy T,
Obseve the pattern and replace the question mark.
1,5,13,25,41,?

1.51 2.57 3.61 4.63
30,45,75,7,165,195

1.135 2.105 3.120 4.130
2B,4C,8E,14H,?

1.16 K 2.201 3.20L 4.22L




ForQ.55&56 3. -84l

Qellel SRRV Ufeed] d ST UGTa Sii ee AT T =1 91T Ui UepHeIel 37Te.
AT T T-gred ST A1 e e,

There is a certain relationship between first two given terms. The same relationship is between the
third & fourth terms. Observe it carefully and choose the best alternative to replace the question mark.

.55 3265:4174::1457:7
1.2367 2.2366 3.2451 4.2356
.56 AG:10:EK:?
I.LR 2.MS 3.PV 4.8Y
ForQ.57 & 58
TETd - AR US 37T,
Find an odd man out.
9.57 10,13,234,681,997
1.10 2.234 3.997 4.681
.58  1.TUVX 2.0PRS 3.BCDF 4. HIJL
¥.59 TSI Aichfaid AT HAND g 216 SZMW 3T folfRdTa oR < wmed MILK 8T 9165, &t fotfeett Siget 2
In a certain language, HAND is written as SZMW then what will be the code of MILK?
1.ORNP 2.PNRO 3.NROP 4.RNOP
T.60 Ul SAhs SIC GRIT Ao FeulTatl, “dif H1sT s JelTed] aeialid! agivr 31g.”
TR ft it wspdt o ?
Pointing to alady on the platform Manju said, “She is the sister of the father of my mother’s son.” Who is
the lady to Manju?
1. 31S [Mother] 2. 98I0 [Sister]
3. 31T [Aunt] 4.9cuft [Niece]
T.61  fORE QAT ST thaHe e SMUedT BT Sk G Ave 15 fohHt Temer ufeemens gasg o 10 ot
el R Sl aad 5 T el @ u_a gdes aey 8 fomt Tedmer Aact Iotedn graren aasd 10 fat
ST e, 37T o §eb SHIUMART fohelt JTaRTeR @ ivre feerelT Jrdiel ?
Vilasrao left his office in his car. He drove 15 km towards North and then 10 km towards West. He then
turned to the South and covered 5 km. Further, he turned to the East and moved 8 km. Finally, he
turned right and drove 10 km. How far and in which direction is he from his starting point?
1. 2 febet ufez [2 km West] 2. 40 b4t grared [40 km North East]
3. 3 fpHT IR [3 km North] 4. 6 Tt feror [6 km South)
U.62 G DR SRS T8 o] ST 3ATedt. DR A DR BT SRISR TIEHEAT IRET PR AT & a1l 10 febrt ok bR

B =T T ameft 30 fhHY 3118, 2 919 TiRes eaedoR SiFg! R AT§ed ¥ T alaived fhr 3id fahdt a™iet ?

Two cars are standing North facing and car Ais towards exact the West of car B. If speed of carAis 10
km per hour and speed of car B is 30 km per hour and both the cars stopped after 2 hours straight. What
will be the minimum distance between those two cars?

1. 40 fepHT [40 km] 2.70fHt [70 km]
3.90 fpHT [90 km] 4. 50 fopHt [50 km]




ForQ.63to 65 3. -8

9.63
9. 64
Y. 65

9. 66

9. 67

9. 68

9. 69

9.70

GTet! fSeled TR STheiid! 3Tdh HeHas Jfetell IR 37T (.
Each of the questions from 63 to 65 contains three groups of things. You are to choose from the
following four lettered diagrams, the one that depicts the correct relationship among the groups of

things in each questions.
Y1 OOO . @& . @

ST 9Td [Tennisfans] ,  fohche WaTg [Cricket players] | faemeff [Students]
%ol [Flowers] ., ®Ys [Clothes] , qiexT/ ¥ [White]
YU FRUR [Smokers] ,  daiel [Lawyers] , U 7 VIR [Non-smokers]

Teilel 91 ST AUTshH 1T & GA=IT ShHTehTaR DIV 916G Al o Aigal.

Arrange the given words in an alphabetical order and tick the one that comes at the second place.
Rain , Plane , Plain , Plenty , Place , Blame
1.Blame 2.Plain 3.Rain 4.Place

EEATIC T 12 AT SUST JBTERHT Z NI AT 3121 Seic M (SR &t 1=2, 2 = Y A7) 5e1ed R
9.30 1. TRIPICT PIVAT QI HBERTIT HEHY IS 2

If each of the twelve digits on a watch is replaced by English letters from Zto A(i.e. 1by Z, 2 by Y and so
on), the hour hand will be between the pair of letters.

I.X&Y 2.Q&P 3.R&Q 4.S&R
TehT fciicr 313 fa@melf argeciivl sirel. Iciivurfteh! g TOrgshH g% AIdaT R Add @l 3R )
eTiciter Uepur faremeff feheit 2

In a class eight students are failed. Out of the passed students Harsh ranks seventh from the top and
twenty sixth from the bottom in that class. How many students are there in the class?
1.42 2.32 3.34 4.40

Ragenefer smaad o e aSia #f. AR gre aTefeasT 15 ATe Fa” #1 28 ATe gdf 3iTe. 4=q a=aTelt
GrEgde 3Maad &, fIeraRmEmET SHAfead 17 ATeqdl 913 12 A1 9a) 3Te. AT AlfgdiaRe [GeRRmararn
Eﬂ?{fﬁaﬂcmwcul ARG AT 3T ?

Siddharth remembers that his father Vilasrao’s birthday falls after 15" March but before 28"
March, while Tanaya remembers that Vilasrao’s birthday falls before 17" March but after 12" March.
Onwhatdate Vilasrao’s birthday falls?

1.15"9/d [15" March] 2.16" 91 [16™ March]
3.17"971e [17" March] 4. ffeyd ARTGT JUIR ATEY [Cannot be determined]

SR 3 fSHeR 2018 ST AR I TR 20 UhglaRt 2020 ST DIV IR TS ?
(R Ay - 365 fed, iy ay - 366 e )

If 3" December 2018 was Monday, what day was 20" February 20207
[Average year - 365 days, Leap year - 366 days]

1. oaR [Saturday] 2.99dR [Wednesday]
3.THAR [Thursday] 4. IhdR [Friday]




.71

9. 72

fecican THimRud e g RIFgRT JISeTTagd hedT & STHIBRUN A <. ST YA Te et 3. -8t
g JGaTaGa I FHIPRU e INeT 3T U1 Wt feeted IR M 1< YT P,

The given equation becomes correct due to the interchange of two signs. One of the four alternatives
under it specifies the intercharge of the signs in the equation which when made will make the equation
correct. Find the correct alternative.

9+5+4x3-6=12
l.+&x 2.+ &x 3.+ &- 4.+ &=

fafae careRITRIGTT e Ut AT Aatt. T 25 fareres, 20 SRR, 18 Siaresd 31or 12 Joxqq= gl it
a1 e I TRUT 1330 B Thfad e hel. STRIRATSI 3R &I 3fTet i, 5 fererepran &< 4
SIRIRIHT dhetedT WatvaeT 8IdT, 12 SR Wd 9 Sidexi<dl Waigadl gial ax 6 Sidcddl gd 0T 8
A= e TR 81T, SR MId SATaTRIGIT T Heddh edreii= THH e W dett RTeITT
AP SRR farell B0 W et ?

A group consisting of 25 teachers, 20 engineers, 18 doctors and 12 salesmen visited a fair and spent
Rs. 1330 altogether. It was found that 5 teachers spent as much as 4 engineers. 12 engineers spent as
9 doctors and 6 doctors spent as much as 8 salesmen. If every person in a professional group spent
the same amount, find the amount spent by each engineer.

1.Rs.14.75 2.Rs.17.50 3.Rs.18 4.Rs.21.25

ForQ.73to75

9.73

9.74

.75

UepT ferdia 10 4R, 25 81, 50 94 T 1 HugTE TRUT 325 A M. SR AW 25 YeriedT A TR
BIUT=IT FUTT ARYEg! 50 et ATl arAciiet, 1 wuieaT A0 IahH 50 UerreaT AT IBHET 5
UC 3Ie g 10 U7 3107 1 U ATUgT U 4 : 3 3T¥ef oR—

A bag contains coins of four different denominations, viz 1 rupee, 50 paise, 25 paise and 10 paise.
There are as many 50 paise coins as the value of 25 paise coins in rupees. The value of 1 rupee coins
is 5 times the value of 50 paise coins. The ratio of the number of 10 paise coins to that of 1 rupee coins
is4: 3, while the total number of coins in the bag is 325.

10 Yerieft =A7oft fopeft

How many 10 paise coins are there?

1.25 2.50 3.75 4.100
50 HeTreaT ATUIT TehuT TerpH fapel gl ?

Whatis the value of 50 paise coins?

1.10 2.15 3.20 4.30
50 URY 25 U1 =T AU 0TICeR 1 ?

Whatis the ratio of 50 paise coins to 25 paise coins?
1.1:4 2.2:5 3.2:3 4.1:3

(T geufehdt IR Gt (Answer Key) €/ fGaad www.drevramanexam.in I7 JSd$caR SUTY glsd)




% B [Rough Work]
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